  
   MBA3     Homework  for MS35 due 06-08-2023
W1
Rabbit’s average life span is 6, which is 3/5 of squirrel’s life span. What is squirrel’s life span? 
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W2
An athlete cycled for 3 hours at a certain speed and walked for another 4 hours with 




the speed 2 mph less than the cycling speed. Altogether he traveled 61 miles. What is his walking speed?


W3
In thirteen years from now Sasha will be four times older than he was two years ago. How old is he now? 

W4
A train went 300 miles from X to Y at an average rate of 80 mph.

At what speed did he travel back if the average speed for the overall trip was 100 mph?  

W5
Ms. Clark drove from her home to the museum at an average speed of 40 mph and returns home along the same

 root at an average speed of 35 miles per hour. If her total driving time for the trip was 2 hours, how many 

minutes did it take Ms. Clark to drive from her home to the museum?

W6
I have dimes, nickels and pennies in my pocket. I have twice as many nickels as dimes. I have ten times more pennies than dimes.

I have $6 total. How many pennies, dimes and nickels do I have?

P1
A coat is on sale for 525 dollars, which is 25% less than its original price. Find a difference between the original price of the coat and number its price on sale.

P2
A store usually sells a certain item at 40% profit. One week the store has a sale, during which the item is sold for 10% less than usual price. During the sale, what is the percent profit the store makes on each of these items?

 P3
  10 is what % of A?
G1*
-1,   -2,    5 ,   -3,     4,   -1,   -2,    5 ,   -3,     4,   … 

In the pattern shown above, the numbers repeat indefinitely in the order shown. Find the sum of first 200 numbers.
A1

If   (U   +   W)2     =  6  
AND   

(U   -   W)2      =    7,   then   how much is  U*W?

A2

If   (U   +   W)2     =  11  
AND   

(U   -   W)2      =    12,   then   how much is  U2   +   W2  ?
Simplify

C1
(1/a   -   1/b) * (a* b)

C2
(b/a   -   a/b) * (a* b2)

C3
(b/a   -   a/b) /  (b2  -   a2)







